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1.225V REF

-40F = -40C = 233K

70F = 21C = 294K

120F = 48.89C = 322K

SLOPE = 0.556uA PER DEGREE F

CHANGE = 89uA/160F

322uA @ +120F

233uA @ -40F

NEEDED SCALE FACTOR = 16mA FOR 160F = 100uA/F

ASSUMING -40F - +120F SPAN (160F CHANGE)

NEEDED RATIO =  100uA : 0.556uA = 179.86 : 1.00
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Need +16v operation
100nA or less bias current
1mV or less input voltage offset

Schottky diodes
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LM6132

4

8 PANASONIC MA717WKCT

Schottky diodes

PANASONIC MA717WACT

INSIDE WHISPER UNIT

DRAWN BY: DAVE JOHNSON

A

DAVID JOHNSON AND ASSOCIATES

4MA - 20MA CURRENT LOOP TEMPERATURE SENSOR

A

1 1Tuesday, July 04, 2000

TEMPSEN1.DSN
Size Document Number Rev

Date: Sheet of

C1

0.01

R4

100

R6

20

Q1
2222

R3
100K

3 2

1

R1

2.610K

R5

12.1

R2

3.160K

3 2

1

R?
250.0


